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1. 2,542=
(i) 2000+500+40+2 (ii) 500+40+2 (iii) 2000+500+2 (iv) 2000+500+40 (v) 2000+40+2

2. 4,594=
(i) 4000+500+90 (ii) 4000+90+4 (iii) 4000+500+90+4 (iv) 500+90+4 (v) 4000+500+4

3. 3,274=
(i) 3000+70+4 (ii) 3000+200+70+4 (iii) 3000+200+70 (iv) 3000+200+4 (v) 200+70+4

4. 4,516=
(i) 4000+10+6 (ii) 4000+500+6 (iii) 4000+500+10 (iv) 4000+500+10+6 (v) 500+10+6

5. 9,955=
(i) 900+50+5 (ii) 9000+900+5 (iii)) 9000+900+50 (iv) 9000+900+50+5 (v) 9000+50+5

6. 5861=
(i) 800+60+1 (ii) 5000+800+1 (iii)) 5000+800+60 (iv) 5000+60+1 (v) 5000+800+60+1

7. 691=
(i) 600+90 (ii) 600+90+1 (iii) 600+1 (iv) 90+1

8. 828=
(i) 800+20+8 (ii) 800+8 (iii) 20+8 (iv) 800+20

9. 32,216=
(i) 30000+2000+200+10+6 (ii) 2000+200+10+6 (iii) 30000+200+10+6 (iv) 30000+2000+200+6

(v) 30000+2000+10+6

10. 44,277 =
(i) 4000+200+70+7 (ii) 40000+4000+200+70+7 (iii) 40000+4000+70+7 (iv) 40000+200+70+7

(v) 40000+4000+200+7

11. 6000 + 100 + 40 + 8=
(i) 7148 (ii) 6048 (iii) 6148 (iv) 6248 (v) -3852

12. 721=
(i) 700+20 (ii) 20+1 (iii)) 700+20+1 (iv) 700+1

13. 466=
(i) 400+60+6 (ii) 400+60 (iii) 60+6 (iv) 400+6
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35,961 =

(i) 5000+900+60+1 (ii) 30000+5000+900+60+1 (iii) 30000+5000+60+1 (iv) 30000+900+60+1

(v) 30000+5000+900+1

64,356 =
(i) 4000+300+50+6 (ii) 60000+4000+50+6 (iii) 60000+300+50+6 (iv)

(v) 60000+4000+300+6

9000 + 500 + 10 + 9=
(i) 10519 (ii) 9519 (iii)) 8519 (iv) 19519 (v) 9419

6000 + 700 + 90 + 1=
(i) 5,791 (ii) 7,791 (iii) 6,801 (iv) -3,209 (v) 6,791

6000 + 900 + 80 + 5=
(i) 6,975 (ii) 6,995 (iii) 7,085 (iv) -3,015 (v) 6,985

200 + 40 + 6=
(i) 346 (ii) 246 (iii) -9754 (iv) 1246 (v) 146

90 + 4=
(i) 104 (i) 94 (i) -9906 (iv) 194 (v) 84

90000 + 7000 + 400 + 40 + 1=
(i) 97451 (ii) 87441 (iii) 97431 (iv) 98441 (v) 97441

50000 + 8000 + 600 + 60 + 6=
(i) 58,656 (ii) 58,666 (iii)) 57,666 (iv) 58,676 (v) 68,666

30000 + 6000 + 500 + 70 + 9=
(i) 36,579 (ii) 36,679 (iii)) 46,579 (iv) 26,579 (v) 36,569

600000 + 60000 + 4000 + 900 + 90 + 2=
(i) 664992 (ii) 665002 (iii)) 654992 (iv) 663992 (v) 665992

800000 + 30000 + 1000 + 400 + 50 + 5=
(i) 8,32,455 (ii) 8,31,455 (iii) 8,21,455 (iv) 8,31,355 (v) 8,41,455

700000 + 90000 + 9000 + 500 + 40 + 7=
(i) 789,547 (ii) 799,537 (iii) 809,547 (iv) 799,547 (v) 800,547

7000000 + 600000 + 30000 + 1000 + 300 + 20 + 4=
(i) 7631424 (ii) 7631324 (iii) 7641324 (iv) 7631314 (v) 7631224

1000000 + 900000 + 80000 + 4000 + 900 + 10 + 1=
(i) 19,84,901 (ii) 19,85,911 (iii) 19,84,911 (iv) 19,83,911 (v) 19,94,911

60000+4000+300+50+6
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9000000 + 700000 + 60000 + 5000 + 700 + 60 + 3=
(i) 9,765,863 (ii) 9,765,773 (iii)) 9,764,763 (iv) 9,765,753 (v) 9,765,763

7000000 + 400000 + 60000 + 2000 + 200 + 50 + 2=
(i) 7461252 (ii) 7462252 (iii) 7462262 (iv) 7452252 (v) 7463252

2000000 + 200000 + 50000 + 3000 + 400 + 40 + 5=
(i) 22,63,445 (ii) 22,52,445 (iii) 22,53,445 (iv) 22,53,435 (v) 22,54,445

3000000 + 800000 + 80000 + 6000 + 500 + 50 + 9=
(i) 3,886,459 (ii) 3,876,559 (iii) 3,886,559 (iv) 3,887,559 (v) 3,896,559

Write the number for the given expanded form :
"(3 X 100000) + (9 x 10000) + (7 X 1000) + (4 x 100) + (5 x 10) + (3 x 1)"

(i) 407453 (ii) 396453 (iii)) 398453 (iv) 397453 (v) 397443

Write the number for the given expanded form :
"(1 X 100000) + (2 x 10000) + (2 x 1000) + (6 x 100) + (1 x 10) + (1 x 1)"

(i) 1,22,611 (ii) 1,22,711 (iii) 1,22,601 (iv) 1,23,611 (v) 1,22,511

Write the number for the given expanded form :
"(4 x 100000) + (9 x 10000) + (5 x 1000) + (6 x 100) + (5 x 1)"

(i) 495,595 (ii) 495,605 (iii) 495,615 (iv) 505,605 (v) 495,505

Write the expanded form of the given number :349094
(i) (3 X 100000) + (5 x 10000) + (9 x 10) + (4 x 1)

(ii) (3 x 100000) + (4 X 10000) + (9 x 1000) + (8 X 10) + (4 x 1)
(iii) (3 x 100000) + (3 x 10000) + (9 x 1000) + (9 X 10) + (4 x 1)
(iv) (3 x 100000) + (4 x 10000) + (9 x 1000) + (9 x 10) + (4 x 1)

(v) (3 X 100000) + (5 %X 10000) + (9 x 1000) + (9 x 10) + (4 x 1)

Write the expanded form of the given number :1,15,498
(i) (1 x 100000) + (5 x 1000) + (4 x 100) + (9 x 10) + (8 x 1)

(if) (1 x 100000) + (1 x 10000) + (6 x 1000) + (4 x 100) + (9 x 10) + (8 x 1)
(iii) (1 x 100000) + (1 x 10000) + (5 x 1000) + (5 x 100) + (8 x 1)
(iv) (1 x 100000) + (1 x 10000) + (4 x 1000) + (4 x 100) + (9 x 10) + (8 x 1)

(v) (1 x 100000) + (1 x 10000) + (5 x 1000) + (4 x 100) + (9 X 10) + (8 x 1)

Write the number for the given expanded form :
"(8 x 100000) + (8 x 10000) + (4 x 1000) + (8 x 100) + (4 x 10) + (9 x 1)"

(i) 884849 (ii) 894849 (iii)) 884839 (iv) 884949 (v) 874849

Write the number for the given expanded form :
"(6 X 100000) + (9 x 10000) + (9 x 1000) + (7 X 100) + (5 x 10) + (2 x 1)"

(i) 6,99,742 (ii) 6,99,852 (iii)) 6,99,752 (iv) 6,99,652 (v) 7,09,752



Write the number for the given expanded form :
" "(8 x 100000) + (3 X 10000) + (2 x 1000) + (9 X 100) + (4 X 10) + (3 x 1)"

(i) 842,943 (ii) 831,943 (iii) 832,933 (iv) 832,943 (v) 832,953

41. Write the expanded form of the given number :195745
(i) (1 x 100000) + (9 x 10000) + (5 %X 1000) + (7 X 100) + (3 X 10) + (5 x 1)

(ii) (1 x 100000) + (9 x 10000) + (5 x 1000) + (7 x 100) + (4 x 10) + (5 x 1)
(iii) (1 x 100000) + (8 x 10000) + (5 x 1000) + (7 X 100) + (4 X 10) + (5 x 1)
(iv) (1 x 100000) + (9 x 10000) + (5 x 1000) + (8 x 100) + (4 x 10) + (5 x 1)

(v) (1 X 100000) + (9 x 10000) + (5 x 1000) + (7 x 100) + (5 x 10) + (5 x 1)

42. Write the expanded form of the given number :69,417
(i) (7 x10000) + (4 x 100) + (1 x 10) + (7 x 1)

(ii) (6 X 10000) + (9 x 1000) + (3 X 100) + (1 x 10) + (7 x 1)
(iii) (6 x 10000) + (9 x 1000) + (4 x 100) + (1 x 10) + (7 X 1)
(iv) (7 X 10000) + (9 x 1000) + (4 x 100) + (1 x 10) + (7 x 1)

(v) (5% 10000) + (9 x 1000) + (4 x 100) + (1 x 10) + (7 x 1)

43. Write the expanded form of the given number :235,836
(i) (2 x 100000) + (3 x 10000) + (5 x 1000) + (8 x 100) + (4 x 10) + (6 x 1)

(i) (2 x 100000) + (3 x 10000) + (5 x 1000) + (8 x 100) + (2 X 10) + (6 x 1)
(iii) (2 x 100000) + (3 x 10000) + (6 x 1000) + (8 X 100) + (3 X 10) + (6 X 1)
(iv) (2 x 100000) + (2 x 10000) + (5 x 1000) + (8 x 100) + (3 x 10) + (6 x 1)

(v) (2 X 100000) + (3 x 10000) + (5 x 1000) + (8 x 100) + (3 X 10) + (6 X 1)

44. Write the expanded form of the given number :982,037
(i) (9 x 100000) + (8 x 10000) + (2 X 1000) + (3 x 10) + (7 x 1)

(ii) (9 x 100000) + (8 X 10000) + (3 x 1000) + (3 X 10) + (7 x 1)
(iii) (9 X 100000) + (8 x 10000) + (2 x 1000) + (2 X 10) + (7 x 1)
(iv) (9 x 100000) + (9 X 10000) + (2 x 1000) + (3 X 10) + (7 x 1)

(v) (9 x 100000) + (7 x 10000) + (2 X 1000) + (3 x 10) + (7 X 1)

45. Write the expanded form of the given number : 907,097
(i) (9 x 100000) + (7 x 1000) + (9 X 10) + (7 x 1) (ii) (9 x 100000) + (7 x 1000) + (1 x 100) + (7 x 1)

(iii) (9 x 100000) + (6 x 1000) + (9 x 100) + (9 X 10) + (7 x 1)
(iv) (9 x 100000) + (7 x 1000) + (8 X 10) + (7 x 1)

(v) (9 x 100000) + (1 X 10000) + (7 X 1000) + (9 x 10) + (7 x 1)
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1) (i) 2) (iii) 3) (ii) 4) (iv) 5) (iv) 6) (v)
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